(29)
1) Evaluate either /:/? ndS or ///? . F dV where
? = :v_i) + y?,

D is the cylindrical region 1 < 22+ y? < 9 between the planes z = 4, 2 =11 and S is the

surface of D.
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2) a Prove that < f, g > / J(1)g(t)dt is an inner product.
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b, Apply Gram-Schmidt orthogonalization process to obtain an orthonormal basis for
”"\, veetor space Vo= span(S) where S = {sint, cost, 1} and the inner product is defined
as I part a. u, , u) ) q3
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3) For the matrix, A= |8 =5 0 [,
6 —6 3
find an invertible wmatrix P and & digonal matrix D such that D= P~1AP.

SVEALS cud (A-13)=0.
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4) Find a basis for the nullspace, rank and nullity of A= | 3 0 9 0 |.
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5) Find values of a, b, ¢ and d so that A =
) Finc LA A
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] is an orthogonal matrix.
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